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Example / Calculate the kinetic energy of the electron from potassium surface
when W, = 3.62 X 10™ erg by the incident light having the following wave
lengths : 7x10®° cm ; 5.5 x10®% cm .

Solution / ¢ =v v=c/h —> 3x 10" cm/sec / 7x10” cm
v =4 x10" H;
Ybmvi=ho-W, —> 6.62x10% x 4x 10" -3.62 X 10"
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Questions /

1- This scientist ‘discovered’ the electron refer to the following list of names.

2- This scientist theorized that electrons could only be located in ‘quantized’
energy levels.

A- J.J. Thompson B- H.G.J. Moseley C- Ernest Rutherford D- Marie
Curie F- Niels Bohr
Questions /

If a particular metal in a photocell releases a current when blue light shines on it,
it must also release a current when it is struck with?

(A) Ultraviolet light. (B) Infrared light. (C) Microwaves. (D)
Radio waves. (E) Red light

Questions/ The laws of photoelectric emission ?

(A) are explained by Maxwell’s theory of light.

(B) state that emission is inversely proportional to the intensity of the incident
light.



lectures in inorganic chemistry ........cccoeevviiiiiiiaiinn oo vevnnenes Azal shaker
(C) state that increasing the intensity of the incident light increases the Kinetic
energy of the photoelectrons.

(D) state that increasing the frequency of the incident light increases the kinetic
energy of the photoelectrons.

(E) state that the maximum energy to release the electron from a surface is the
work function.

Questions / A blackbody radiator ?

(A) does not absorb thermal radiation.

(B) is a perfectly reflecting surface.

(C) is used in newer automobile engines.

(D) emits radiation only in the visible light region.

(E) none of the above.
Questions /A perfect black body has a surface temperature of 27 °C, so
what:

1- Maximum radiation wavelength

2- The intensity of black body radiation

1-MA o T = 2.898 x 103
(T=27+273=300 K~ )
Aax - (B00) =2.898 x 103
amax = 2.66 x10 - m
2-1I=c e T?=5.67 x10-83(1) (300)*
I =459.27 W/m?2



